Auenb

0} payul

Ajusuewlad

£58Y ‘odA|

<-/002 -0€0

OAJOA oxeN

suononJsul Bumig




M10x35
45 Nm

@

225x10,5x4

O~

IS

M12x75
75 Nm

218x3,5 L=46m

M10x35]

&L 145 Nm

M10x35

N

N
N M12x90 N

e 75 Nm S

N /'/ >
e -
& 7
& e

© 485370MN/26-03-2007/1

© 485370MN/26-03-2007/18




¢/,00¢-€0-9¢/NIN0LES8Y ©

- e (R P S, M S e e e e e e e e e e e e =
£1/2002-60-92/NINOLESSY © <

*0ssa)s oasodsip [9p INOIZNILANVIN @ OSN.IINS O[0SISA [9p S)USIN,| CJEULIOJU JSAR IP S.jOUl BIBIYDIP IS

VINHId @ OdaiNIL

:001UBDOBW 000BYE 1P OAINISOdSIP ©)uaNBas || 0SS8IS OAISOASIP [9p SJ0}NJISOD [9P YD O|ODISA [P SJ0NJISOD 9P BIS IUOIZ
-11osa1d 9jje AIIOJUOD Ul PS BJS1I00 BISIUBW Ul OJRJUOW JOAE IP BJEIYDIP BIIQ BHLOSONOS €| :ODHDV.LNOIN OLLIHHOD Id ANOIZVHVIHIOIA

oanv1109 1l H3d 34dV1idWOD va

(65 u1) @oLI0W EJ[BP "XBN B]IqeIyoIowlY BSSBN =0

(6 u1) eouow ejj8p "Xe|\ eAlsse|dwo) esse\ =] :9A0P :(ajgelyoiows essew
S+l B| 2JBSSEJ]09p OMESS323U 3s) ejnuuo} ajuanbas | atejidwod ‘oibbe)

N 6°8 71 186000 % -q -uow |e a1apadoid apuajul IS IND NS BINYSA BJINS dUOIZe||eISuLlle ‘02/v6

Oox1 339 ewlou e ojebojowo ourel} Ip oAnisodsip [9p ENSUOPL| S1BIYLISA J9d
0[02IBA0INE ||8p BUOIZE|0JIID IP BUED IPSA :8|IqeIydiowll BSSE

(58/50/82'W'Q 1PaA) alopadns
wo G e aiepuolose = Wwo 0/ + (82u0w) OTODIFA INOIZVIODHIO IP VIHVYO 818peA Wey'z 'S L'V L @ ueaele) Jed e|iqelyolowl ezzeybie

By G2 'S "Xew 9[edIUdA 0oL
N 68 :Q 8J0jeA
8099-00 I8 :auoizefojow
X-0SV :000€)E Ip odi} © BsSE|D)

:sjeuoizuny odi)
<-,00¢ ‘0€0 OAIOA ;joo18A0INe Jod
£58Y :ody oures} Ip oAlisodsig



(2x) M6x20 (8.8) @ (2x) M6
(15x) M10
18x) M10x35 (8.8 S,
(18x) x35 (8.8) \@ (2x) M12
(1x) M10x90 (8.8) (2x) M10
&2 (4x) M10
(2x) M12x75 (8.8) (4x) 225x10,5x4
(4x) @30x14
@ L=8,8mm
(1x) 18x3,5
L=46mm

© 485370MN/26-03-2007/3

Page 1

M12

19|

© 485370MN/26-03-2007/16




¥/,00¢-€0-9¢/NIN0LESBY ©

¢NolLvIdiaon

NY 68 : anjep-(d

8099-00 LI®

panoiddy

=]

X-0SYV :ssejosbuiidno)

G1/.00¢-€0-9¢/NINOLESBY ©

wwg‘g="
Y1X0ED (Xp) —

ZLA (x2)

(8'8) SZX2LIN (x2)




Okm 1000km

NOTE:

* Should this installation process entail the cutting of the bumper — con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Brink International do not accept
responsibility for any matters arising as a result of this miscommunica-
tion.

HINWEISE:

* Die fiir das Fahrzeug zugelassene Anhéngelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf die hdchst-
zuldssige Anhéngelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hieriiber kann lhr Fachhandler oder der TUV geben.

* Elektrische Anlage gemaf StVZO anbringen.

© 485370MN/26-03-2007/5

© 485370MN/26-03-2007/14



9//00¢-€0-9¢/NIN0LESBY ©

Jadwnq pJeepuels







8/,00¢-€0-9¢/NIN0LESBY ©

OLIN (xp) @ é

(8'8) SEXOLIN (x¥) ,i

}1/200¢-€0-9¢/NINOLES8Y ©

YA
.\

9N (x2)

(8'8) 02X (x2) ;

G'exglo (x1)

0L (x1)

(88) 06XOLIN (X1)




(2x) M10x35 (8.8)

(2x) M10

=) (2x) 925x10,5x4

)

©25x10,5x4 \

i\

25x10,5x4

(4x) M10x35 (8.8)

(4x) M10

(2x) M10

©25x10,5x4

© 485370MN/26-03-2007/9

(4x) M10x35 (8.8)

(4x) M10

© 485370MN/26-03-2007/10





 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20070306153731
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     445
     293
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





